Efficiency vs hit

o 0.5p
=
=
0.4
>
3 o.
=
Qo
'50.3!
5
0
0.2!
0
0.1
0.
0.0
o
=1
<
o
0.8
0.6f - . | .
010 20 304 50 60 70 80
P hits
—— DQM_VOOOI_ROOOOOOOO1_G\oba| CMSSW_ckiPU50__RECO
—— DQM_V0001_R000000001__Global__CMSSW_mkFitPUS0__RECO
—— DQM_V0001_R000000001__Global__CMSSW_mkFitPUSOLowPtQuad__RECO
[ Efficienc] —— DQM_v0001_R000000001__Global__CMSSW_mKFitPUSOLowPtQuad-noBkwd__RECO
»0.05¢
4
19

20 25
TP layers

0 1 2 3 4 5 6 8
TP pixel layers

Efficiency vs 3D layer

0 0.05¢

6 8 10 12 14 16 18 20
TP 3D layers



	Contents
	Page 1


